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X'I'ABI!! DE MULTIPLICATION
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Tahle de 2 Tahle de 3 Tahle de 4 Tahle de 5
Sni= cxa=1 dEdeg =10
2= h S 2x4=1) | S3x>=15
A= diga=l | dxd=16 | dxle=tl
oaa= A | SaaEdh | el | HEnEE
Gx2=12 | 6x3=18 | 6xd4=24 | 6x5=30
ixz=1d | Tx3d=21 Ixd=28 | Ix5=35
s =l | MEa=ad | Bad=3l | Sxhadl
Owd=10 | Hra=d | ‘Brdsib | ¥xnads
Tahle de & Tahle de 7 Table de 8 Tahle de 9
2nb=00 | dx¥i=id | Ieb=15 | 2xG=1¢
exb=18 | Sxlz=2l SxBz=2 | 3337
dxb=29 | Gul=15 | 4xb6=23] | 4x8=20
oxbs Yy | Sxl=30 | Bxt=4d | Dx8 =40
GxG6=36 | 6x7=42 | 6x8=48 | 6x9=54
ITxb=42 | 7Tx7=49 | 7x8=56 | 7x9=63
ExB=d8 | 8x7=00 | Bx8=64 | Ex8=72
Qx b6 =25 Qus=72 | 9x9=851
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